
!"" #$%& '()*%+()$

, #-&-.%/ 0()1%2$3

% 3()1%2$ " 4567 -3 2%//$8 .-&-.%/ -1

92: ; < = +1:2> "

?
.$%& 2()*%+()$

@AB +A$ &%.$ C

D$2%// E -1 D -3 % )$F-=& -& >6 +A$& -&
G 3$2+-=& " H

I$ 3%I

,2. < 01F 8(8 )

&=I F-*$& >6 -& 5567 /$+J3 2=&3-8$) 3()1%2$3
K % L-+$

&$%) >6

M"
0(::=3$ " E ! N " -3 % 2==)8-&%+$ 2A%)+

% &=).%/ *%)-%+-=& =1 >6 -3



+= E ! O '> $G % N "

+=
"2( P * ; P + ; < Q/(-8 + +A /%-8 RS" '%)/ ;

IA$)$ A E ! >T "D 3=.$ 1(&2+-=& %&8 A >
> U

=(+3-8$ % 2=.:%2+ 3$+ V 2 !

%&8 )+ -3 +A$ &=).%/ *$2+=) += >6

/$+ "+ E ! N 5567 W$ "+ X(* ; < += Y(&
P
+ ;

+A-3 F-*$3 &$%) WB :%)%.$+$)-Z$8 3()1%2$3

"+ >

> " %+ +A% RJ++A+(

"1 >
> "&+ + A()+ [ +A S*

)$2%// +A$ 3$2=&8 1(&8%.$&+%/ 1=). -3 "+ < \,HH2 ;
, >

> > S(= Q% H < > "& G R] ' < > Q) G S1

T
^

3= F(+ < "+ G "+( < Q-1% [ Z+1A"-Q(+ A++ ;
[

+A)(
G"& [6 +A A%+-&

[ +
J "- QGQ

<

F _

> 6 +A, ` + +
J

\ > ;



3-.-/%)/B
F%+$ >

>

FZZ
> a+A2++ J

' > ;

F(+ >

>

F( > 6 +A H + +
J

\ > ;

3= 8$+/F-+b ; >

> FB+F+Z > W(+ ;
J

F P P
> a+A , ` + + 4> ; F PZ

> 6+AH + + J+ ;
< \

F( G 6 +A H + + J+ F( > a+A2++

< 8$+1F-b; > 6 +A \ ,FZZ+ 'F- P > 6F P 6H ;

[ +- > ;

)$2%// "1 ` < "Z c66 ,+ 'F- P > 6F P %
H

G >

"$+ \ Fbb ;

3= 8$1 d-F ; < 8$1 'F-e; " " > 4 A+ 9 ; + + J+ ;

%&8 +A$ %)$% =1 "+2A -3

,2+ ; < f8$+g 8(8)

< 1 PP">4A+9++hQ-$&8 )



R=I

8%+ ,9 "+̀
3=

< 1:+Z2 " J

" > 4A 9+

Z+/>VQ"Gb/8(8)/+>=>1:>ZA9Q"G-3
8( 8=

3= ,
J
'= ; <

> 6 0:A 9 V,

S9K 5 E

" 2 "D
J
-3 .-&-.%/ i

,J 5j5>>j 1=) %// 3(2A

&=).%/
*%)-%+-=&3

k)==1
G h ; 2/$%)

i ; -1 9 Q U &$%) : +A$& 2A==3$ A 3(2A

+A%+ A-FA >

> 9 \F; 1=) F> &$%) 1
%&8 Z$)= $/3$IA$)$

+A$& ,
J
/=/ 2= lU h

D$.%)L 3= -+ K .-&-.%/ +A$& 1=) %&B W=(&8$8

)$F-=& "XV ; -3 % 2)-+-2%/ :=-&+ 1=)
+A$ %)$% 1(&2+-=&

W(+ &=+ &$2$33%)-/B % .-&- *-3% m



SA$ 6

"1 " $ 5567 -3 2=.:%2+ I-+A=(+ W=(&8%)B
+A$& " -3 &=+ .-&-.%/

k)==1 E SA$=)$. "" G

n
3%B3 Q : K " 3$+

G

Y ':+ o j

0= Y
P P Y A%*$ 3%.$ 3-F& %&8 A$&2$

9/1 ; < +Z " Y-+Y%+ Mj
K9

kAB3-2%//B IA%+ %)$ .-&-.%/ 3()1%2$3 C

"1 B=( /==L %+ % 3=%:1-/. P
+A$ +$&3-=& -&

J

+A$ 1-/. I-// +)B += .-&-.-Z$ +A$ %)$%

=1 +A$ 1-/. 3(Wb$2+ += IA%+$*$) 2=&3+)%-&+3

.-FA+ W$ :/%2$8 =1 +A$ 1-/.

$GF= 2=&3-8$) +A$ 3=%: 1-/. =& %

_

W(WW/$ I%&8
_

-+ I-// A%*$ .$%&MG 2()*%+()$ U %&8

.-&-.-Z$ +A$ %)$% =1

% 3()1%2$ I-+A F-*$&
W=(&8%)B



H '=&3+%&+ #$%& '()*%+()$

'=&3-8$) % X=%1W(WW/$ E +A$ +$&3-=& -& +A$ 3=%: 1-/.

I-// +)B +=
.-&-.-Z$+A$ %)$% =1 +A$ W(WW/$ .%L-&F

-+ 3.%//$)
P
W(+ +A$ %-) :)$ % 3()$ -&3-8$ -3 )$3-3+-&F

W$-&F 2=&+)%2+$8 G
,+ 3=.$ :=-&+ +A$

_

:)$ % 3()$
_

"+ > " "

$p(%/3 +A$ +$&3-=& %&8 B=( A%*$ % 3+%W/$

W(WW/$

+A$ +$&3-=& -3 F-*$& WB +A$ .$%& 2()*%+()$

\ )$2%// IA$)$ $*$) +A$ .$%& 2()*%+()$ -3

/%)F$3+ +A$ %)$% I-// 2A%&F$ +A$ .=3+

-+ =&$ .=)$ 3 -& +A$ &=).%/ 8-)$2+-=& ;

&=+$ 3$&3$ +A$ :)$ % 3()$ %&8 +$&3-=& -3
(&-1=).
+A$ .$%& 2()*%+()$ 3A=(/8 W$ 2=&3+%&+

" -3 2%//$8 % 3()1%2$ =1 2=&3+%&+ .$%& 2()*%+()$ '2. 2;

-+ 9-:; -3 2=&3+%&+

, 3=%: W(WW/$ %/I%B3 +%L$3 =& +A$ 1=). =1 % 3()1%2$

=1 2=&3+%&+ .$%& 2()*%+()$



,/$O%&8)=* J3 SA$ 7 E

"1 " -3 % 2=.:%2+ $.W$88$8 3()1%2$
>

&
5567 =1 2=&3+%&+

.$%& 2()*%+()$
P
+A$& " -3 % 3+%&8%)8 )=(&8 3:A$)$

0=%: W(WW/$3 %)$ 3:A$)$3m
@$ &$$8 +I= /$..%3

/$..% 4 E

"1 " -3 % 2=.:%2+ $.W$88$8 3()1%2$ -& "D
J

W=(&83 % 8=.%-& V =1 *=/(.$

!'V
; %&8 9 o U

+A$&

]$11V, "7 !'V ;

I-+A $p(%/-+B q " -3 3+%&8%)8 )=(&8 3:A$)$

/$..% r E

9 " -3 %&B *$2+=) 1-$/8 -& 5567 %&8 I$ /$+

% " /(* ; P + ; < Q/(
P
) ; + + S'Q '%-= ;

W$ %
_

*%)-%+-=& =1 % 3()1%2$ :%)%.$+$)-Z$8 WB "

+A$& ,
J

'= ; < > 1pZ++1*GS!; 8 ,

k)==1 =1 r E b(3+ /-L$ +A$ 2=.:(+%+-=& =1 ,
J

/=/ %W=*$

W(+ .$33-$)
h

G



k)==1 =1 SA$ 7 %33(.-&F /$..% 4 E

/$+

*>/OGBG++

; < \ lG B PZ ; -& +A$ 1=).(/% %W=*$

=1 \ /(* ; P + ; < Q/%-) ; + +1/(* ;
< " /(* ; \ "++ ;

&=+$ E S(+ 3-+$ ; "
P
"1 > X-+$ ; "(

-G F-F < ' 9++ F- e
%&8 8%+ >

> 8>+A J8 ,

3= ,/+ ; < \"++ ;
J

, %&8 ,
J

"+ ; > 6' -+ + ; ,

E
G
,

J
5j5>>6 ,

s %)$% K ;
1)=. /$..%

r, P

F= P < > 1 Z-+QG1 V, 2A==3$ , += W$

-&I%)8:=-&+-&F
"1 "+ -3 2=&3+%&+

, < 90-)G QV,

< 9 0 8-* S 8O8B8Z 6

V<
K

V
?
8-*$)F$&2$ +A$=)$. 1)=. *$2+=) 2%/2

G

< 9 rP7 8O8B8Z `<7 9
!"V

;

&=I 0"S V, ` < "S0 V, ` < h < ,>` > <7 !'V ;
\ ,W( V; ;

E
G
/$..% 4 3%B3

" )=(&8 3:A$)$ hP



k)==1 =1 /$..% 4 E

@$ W$F-& WB 1-&8-&F % 2/$*$) I%B += 2=.:(+$
+A$ *=/(.$ =1 V

J

- _ t EtEEE
G

G G

&=I I$ %)$ F-*$& " %&8 R +A$ -&I%)8 :=-&+-&F
&=).%/ *$2+=)

1=) $%2A : K >6 2=&3-8$) +A$ )%B X: +A)=(FA : -& +A$

tetE2EEE% G G

Q +A%& %&B =+A$)

:=-&+ =& >6 u

%&8 3$+ 8-: ; < 3(: v"+ 1
> F>"+

I-+A F> K ': u

3= 1=) %// F> K/: I-+A "+:> "// % 8-: ;
P : -3 2/=3$3+

:=-&+ =& K +=F

&=I 2=&3-8$)
" G

G
" w ? = P V >T 5567

" Q-+ ; + :$+ \ 8-: ; Q+: ;;
%&8 /$+ 0 <

-.%F$ ' " ;



'/%-. 5 E

0 <V x 8=.%-&W=(&8$8 WB >6

'/%-. 6 E

1+
i P

_ >6w5c5 ; N 5577 -3

2. -&b$2+-*$
\ 6 ; 8$+ \ V1 ; + U

'/%-. 7 E

!X V; < !=/ ' ".%F$ "+ < !=/ \ ".%F$ "+ w F= P
P P ;

< 0Z 0=8
J _
" " > Z+ 9-&+

+L2://8+
V,

"&

.$%& 2()*%+()$ d%(33 2()*%+()$

&=I -1 Y
P
%&8 YZ %)$ +A$ :)-&2-:%/ 2()*%+()$3 %+ :

+A$& " > + 6 "+ ` + + Y < " > +1 Y
P
+ L% ; + +

J

Y
P YZ

< \" > Y
P K; \ " > Y

P
+ ;

3=

!' V; < 0$ 0=8
_

"8
>

Y-$/
'- >

Y%+A
8+8 ,



'/%-. 4 E

"2:; C #%O v Y-: ; P Y$$: ; u

0= +%:P aY
P ': ; q 56 8-: ; Y-: ;

%&8 3-.-/%)/B 56 8-: ; Y$:+

%

J

( Y-+ P Y%+ K 5 +1 + K ? = P A-: ; y

%&8 3=

0=A
J #9> Y

P
$; '/ >LZ+B8+>0z#">YG9{ > YZ+/8+

&=+$ E (3$1(/ -&$p(%/-+B %W K |+ZWz%GW C j

-&8$$8 E 1%)> DW ;
J

a U

55

% > a-%W+W

0= Z)%W K%+ W %&8 %W " i W ;
J

F$+ $p(%/-+B i % >7F

-G \" >

+%-&+
;

J

>

> '> %+A-3+; \ " >%+A-3+ ;
%

K/> Y
P
1; \ " > Y+ ; <

" > Y-+ >55 > Y%+

< \ " >

9(O/$B \ " ;



%/3= 9-: ; < " \ "3 P
+ L% ; K " a 8+:P < S-:;

3= 8 ":+ K 9+:;

&=I
0=8

_ JX/> OG + ; % > Y%++ 8+$ 0=8
_ J

'>

9-&+
;

J

%/+

$

dz9
J#
\" > 92:; + ;

J

8+
U

J
A++:3

<

> W$9(A+
J

h % +=
< U [ Q-+2A < Q+:;

E
G ! >

> 0$ 0m ' " > Y
P
+ ; '- > Y%+ ; "+ V,

} 0$ 7LM V,

3= ]p++:P V,a 7 ! %3 2/%-.$8

-1 I$ A%*$ < +A$& &$$8 " > Y
P
+ < " > Y%+

E G Y P

< YZ 1=) %// : K "

3= " -3 +=+%//B(.W-/-2-
G
>6 % )=(&8 3:A$)$ WB SA J " GSXh



k)==1 =1 '/%-. 5 E

"+ -3 $%3B += 3$$ 0 2 V

1=) +A$ =+A$) -&2/(3-=& /$+ F> K V

/$+ : K " W$ % :=-&+ -& " %3 2/=3$ += F> %3 %&B

:=-&+ -& K

&=+$ E F> /-$3 =& /-:

3-&2$ -+ &=+ +A$ /-&$ 1)=. : +=F -3 &=+

:$):$&8-2(/%) += S: >6

/$+ ]$+ S:" I-+A % 2=.:=&$&+ :=-&+-&F
+=I%)8 F> \ 9K 55<5 ;

/$+ " -+ > $G % N K W$ (&-+ 3:$$8 2()*$

I-+A "/= ; <: %&8 " J
'= ; > "

'=&3-8$) 1 "+ ; < "" > " 9"S

1>
J

"+ ; < > 6 "
J
9" G " " > " X+ ; ;

< >6 " J '++p \ &=+$ E " J'+/ G "'9 >

> U

3-&2$ 55A J

'$/ "+ > 5;

3= 1
J

/ = ; < > 6 @-F 2 U

3= "
`

"+ ; 2/=3$) += F> +A%& "/= ; <: 1=) 3.%//

:=3-+-*$ "1

&=I -1 F> K ': 8=&$ 3-&2$ F> < Q+: -+ ; IA$)$

+ < 9">Q"
8-: ;



-1 " '> ': +A$& F> K ": A$ G
% A%-/ J+ :=-&+ =1 ':

3= F> < " ':- ;
K+

k)==1 =1 '/%-. 6 E

-&b$2+-*$

3(::=3$ 1+:G9>F>1/: J

P
+

J ; +=+
J
K K= P

V

+A$& F> K ': %&8 F> K ' :-

W(+ F> K ': .$%&3 F> 2/=3$) += : +A%&

%&B =+A$) :=-&+ -& K -
G : K ': P

(&/$33 : <: J

=1 2=()3$ 1+:G+ ; >
> 1+:G+ J " i +

1=) V$+ V" E

>

"+
/$+ " -// N 5567 W$ % 2==)8-&%+$ 2A%)+ %)=(&8 :

+A$& SBE !O '+ > K
P +$% >T5567

\ (&-+ ; + " /(* ; + +( '%-) ;

-3 % )$:)$3$&+%+-=& =1 " -& 2==)8-&%+$ 2A%)+

A$)$ v 3= 3.%// $&=(FA 3$+G %// 3$2+ > K
P
1+ K ;

%)$ -& ? = P 8-: ; ;



&=I 2=.:(+$ E

V"<V" < ? S(++ R] "&+ + R] " y

)$2%// 1=) % 7w7 .%+)-O #< /=+ "% "3 y

8$+ # < +=O )+ ; G "

)$2%//
P (3-&F +A$ W%3-3 "& %&8 "( I$ 2%& I)-+$

+A$ 3A%:$ =:$)%+=) 0: '(+< >SI= %3

" %%m
P
%% Je; IA$)$ > R"K %& S(+ %

)

> R"] %
P SO( + %(+=

3= 8$1 VQ < 1O(OO>(++A(O+1+R>(O"R>KR>(ORVG)(

< h

(OO>(++/O(O1G%Z~O">=%(9->%(O(>%ZhVOO"1
[

+z+%(O(>pSO)/O1%GZO(>%"O)r9GQ>1O(O")>+|(+%Z8"(GO

")

+ +
J

|_ %( > %
P $A P ; Q(O") ; G Q

W(+ )$2%// "&
P "* 3:%& S%-K 3=

"( O ") &=).%/ += S1>6



3= -1 " " S1 " +A$& S G Q < " 4S9

q 9" G O ")L " " > + 6 9+ +
J

Y"
%3 =W3$)*$8 %W=*$ -+ Y

P P
Y

P :)-&2-:%/
2()*%+()$3 I$ A%*$

<
"

/+O%OO)///
\ " > + Y-// " >

+A%+%1+$) ' /%-& 4 I$ =W3$)*$8

Y-+
P Y%+ 2 " +1 + K /=

P 8-: ;;

3= 8$1 V " o U
K9

k)==1 =1 '/%-. 7 E

I$ 2%& 2=.:(+$ +A$ *=/(.$ =1 -.%F$)B WB

; +O(OO( " " " > + 6

9++
J Y" 8+ 8( 8=

< 0
P
m "- > +Z

9++
J Y" 8+V,

3-&2$ I$ 2%& 8= +A-3 1=) $*$)B I=)8 2A%)+ I$

F$+ +A$ 1=).(/% -& +A$ 2/%-. h



k)==1 =1 '/%)-& 4 E

/$+ F> W$ % :=-&+ =& X: % 8-3+%&2$ 8-: ; 1)=. S

%&8

H2F
P
8'kV W$ % W%// =1 )%8-(3 8-: ; %W=(+ "

_

G G+A$& +A$ -&+$)-=) =1

H-F
P 8-: ; ; 2=&+%-&3 &= :=-&+3 =1 "

-&+$)-=)

&=+$ E 6572F P 8-: ;; -3 % 3:A$)$ =1 )%8-(3 8-: ; 3=

%// =1 -+3 &=).%/ 2()*%+()$3 %)$ X-:;

&=I %)F(-&F $O%2+/B %3 -& +A$ :)==1 =1 S9K ""G n

I$ 3$$ +A%+ +A$ :)-&2-:%/ 2()*%+()$3 =1 K %+ S=

%)$ K +A=3$ =1 6 H+F P 8-: ;;
h1


